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OChristmas Addition and Subtraction

Solve the following word problems.

Santa has 450 candy canes. He gives 120 candy
canes to the elves and then finds another 200 in his
bag. How many candy canes does Santa have
now?

Rudolph the Red-Nosed Reindeer found 600 pieces
of coal. He gave 150 pieces to Dasher and 100
pieces to Prancer. How many pieces of coal does
Rudolph have left?

Mrs. Claus baked 800 gingerbread cookies. She
gave 350 to the elves and 200 to Santa. How many
cookies does she have left?

A toy factory produced 900 toy cars. They shipped
400 toy cars on Wednesday and 200 toy cars on
Thursday. How many toy cars does the factory
have left?

A Christmas tree farm has 600 trees. They sell 350
trees and then plant 200 more. How many trees
does the farm have now?

A toy store had 500 toys. They sold 300 toys and
then received a shipment of 200 more. How many
toys does the store have now?

A toy factory produced 600 teddy bears. They
shipped 200 teddy bears on Monday and 100 teddy
bears on Tuesday. How many teddy bears does the

‘ac’rory have left?
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